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Q.1 Choose the most appropriate alternative for the following: 8]
1,  The function f(x) = 5x +11 represents
{a) Parabela apening upward {b} Parabola cpening downward  (c) Straight line (d) Circle
2. Derivative of secx + 715

{a) sec{Zx) (b) secxtanx + 1 {c) secxtanx {d) None of these
3. Partial derivative of x* -y’ with respect to y is
(a} 3% (b} 3y (e} B¢+ 3y° (d) None of these
4. |ntegration of € with respect fo x is
{a) &" (b} 1 {c) 0 {d) Mone of these
5 The order of the inverse of any 2X2 matrix, if it exists, will be
- {a) 2X2 (b) 3X3 ; (c) 2X3 () 3X2.
€. I function f0x) satisfy f{x) < f{xg) for all x; in some neighberhood of %, then x is of ().
(a) Local Maxima (b) Local Minima (c) Saddle point  {d) None of these.
7. For derivative of composite function, rule is used
{a) Chain (b) Addition {g) Quotient {d) Mone of these.
8. For two matrices A and B, AB is defined only if, Number of columns in A = Number of
in B
{a) Columns (b) Rows (c) elements {d} Both (a) and (B}
Q.2 Attempt any five of the following: [14]

1. Find coordinates of vertex of the parabola y = x4+ 3x+ 11
2 Determine slope and y-infercept for 7x + 3y +2 = a.
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3.  Evaluate: Im —
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4. Find d_y fory = g"* using chain rule.
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5. Find — if 2=28BINXCOSY.
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. Evaluate: (i) xi_i@ E—- —— (i} lim -

{ d'y /QL},\'-”
Identify order & degree of the differential eguation: | 52 -i—ZLE | =5=40.
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Ewvaluate AB if it exists for A = L l | and B = i G |
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Define: Row Echelon form of a matrix,

.. Give rule of infegration by parts and explain LIATE criterion.

Define Carlesian product of two sets and give its biolegical application.

(i} Find domain and range of the function fx) = % "_]_
S

{ii} Give coordinates of vertex of parabola defined by fix)=2x% s sx-11.

OR

(i} Simpiify: log(logx*)~log(log x).
(i) Prove that, sinB(cosech +sinBsec’ D) —sec? (.
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x* - Tx? +3x-1 r—=0 X
L sinx
i) Find — fory= —— |
0 dx 4 2% +1

{ii) Find out local minimum and local maximum values, if they exists, for the function

: . | s
of several variable: / (%)) = x¢é -2y + E-’r 3.

OR

(i) Find (;{;;

forz=x*+y*,

{ii) Find out local minimum and local maximum values, if they exists, far the function

of single variable: f{x)=x"+2x" —4x -3,

Evaluate: (i} Iﬁdx (ii) J{]t‘} x)V el

Saolve the differential equations:

i) L =y (i) 1+ )dy = xydx..
oy

OR

[61
(6]

(€]

6]
[6]

(6]

[8]

(6]

[6]



Q.6

(i) Evaluate: [sin[2x+ Ljeite
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(i} Solve the differential equation: ™y = dv
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(i) Find the inverse of the matrix| 4
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6, if it exists.
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(ii) Evaluate rank of the matrix | 2
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Find the eigenvalues and the corresponding efgenvectors of the matrix| 0
!

OR

Find the eigenvalues and the corresponding efigenvectors of the matrix|
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